
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

NKT-3 SERIES  
FRESH BREWED TEA BREWERS 

 
 
 

SPARE PARTS CATALOG 

NKT3-NS3 NKT5-NS1 NKT3-NS2 NKT3-NS1 NKT3-NS4 (Radius) 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

2 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

3 

 
TABLE OF CONTENT 

Base Assemblies Pages 3 - 6  
  
Cover Assemblies Page 7 
  
Valve Assemblies Pages 8 - 11  
  
Tank Assemblies Pages 12 – 16 
  
Miscellaneous Components Pages 17 – 30 
  
  
  
  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

4 

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies 

701787 

 

Base Assembly 
[NKT3-NS1, NKT3-NS4, & NKT5-NS1 Models Only] 

1 EA. 

701944 

 

Base Assembly 
[NKT3-NS2 Model Only] 

1 EA. 

701488 

 

Base Assembly 
[NKT3-NS3 Model Only] 

1 EA. 

705449 

 

Base Assembly 
[NKT3-NS4 Radius Model Only] 

1 EA. 

100078 

 

Bumper Foot With Screw 
[All Models] 1 EA. 

105096 

 

Screw, 8-32 x 3/8” SPHMS Black Zinc 
[All Models] 1 EA. 

511027 

 

Screw, 8-32 x 3/8” SPHMS SS 
[All Models] 1 EA. 

701634 

 

Face Plate, Base Single Dispenser 
 

[All Models] 
1 EA. 

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

5 

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies - Continued 

701693-BPC 

 

Side Rail, Base GXT BPC 
[NKT3-NS1, NKT3-NS4, NKT3-NS3, & NKT5-NS1 Models Only] 1  EA.  

701784 

 

Top, GXF-T Base Blank 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, & NKT3-NS2 Only] 1 EA. 

701786 

 

Bottom, GXF-T Base Blank 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, & NKT3-NS2 Only] 1 EA. 

701524-BPC 

 

Side Rail, Base .812 Offset GX 
[NKT3-NS2 & NKT3-NS4 Radius Models Only] 1 EA. 

701681 

 

Top, GXF-T Base Blank 24 5/8” 
[NKT3-NS3 Model Only] 1 EA. 

701683 

 

Bottom, GXF-T Base Blank 24 5/8” 
[NKT3-NS3 Model Only] 1 EA. 

111322 

 

Trim, Radius Base GX 3/4" 
[NKT3-NS4 Radius Model Only] 1 EA. 

705431 

 

Label, Target Base 
[NKT3-NS4 Radius Model Only] 1 EA. 

 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

6 

 
ITEM # IMAGE DESCRIPTION UM 

Base Assemblies - Continued 

705451 

 

Top, Base Radius 
[NKT3-NS4 Radius Model Only] 1  EA.  

705452 

 

Bottom, Base Radius 
[NKT3-NS4 Radius Model Only] 1 EA. 

     

     

     

     

     

     

 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

7 

 
ITEM # IMAGE DESCRIPTION UM 

Covers 

705229 

 
NK Cover Assembly, With Pour In 

[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3  
Models Only] 

1  EA.  

705045 

 

Cover Assembly, GXTVT With Pour In 
[NKT3-NS4 Radius Model Only] 1 EA. 

110625 

 

Cover & Grid Pour In Assembly, Black – Plastic 
[All Models] 1 EA. 

110623 

 

Grid Only, Pour In Black – Plastic 
[All Models] 1 EA. 

110624 

 

Cover Only, Pour In Black – Plastic 
[Al Models] 1 EA. 

705748 

 
Cover Only, Pour In NK Model – Blank 

[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3 
Models Only] 

1 EA. 

705029 

 

Cover Only, Pour In GXTVT Model – Blank 
[NKT3-NS4 Radius Model Only] 1 EA. 

     

 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

8 

 
ITEM # IMAGE DESCRIPTION UM 

Valve Assembly NKT3 PDS 

705758 

 
Valve Assembly, NKT3 PDS 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1  EA.  

705018 

 
Valve Assembly, Faucet GXTVT 

[NKT3-NS4 Radius Model Only] 
 

1 EA. 

705904 

 
Valve Assembly, NKT3 .175 

[NKT3-NS4 Model Only] 
 

1  EA.  

100177 

 
Male Elbow, 1/4" F x 1/8” NPT 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1  EA.  

100255 

  
Solenoid Valve, Kip 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 
 
 

1 EA. 

110307 

 
PDS Valve Assembly, High Flow Flare x Plug 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1 EA. 

201128 

 
Shut Off Valve, 1/4" Flare 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1 EA. 

704209 

 
Swivel Nut Assembly, 1/4" x .030” x 1.5” 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1 EA. 

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

9 

 
ITEM # IMAGE DESCRIPTION UM 

Valve Assembly NKT3 PDS - Continued 

705337 

  
 

Tube Assembly, SS 1/4" x .030” x 1.437” 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 

Models Only] 
 

1  EA.  

705764 

 
Tube Assembly, SS 1/4" x .028” x 7.125” 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1 EA. 

705798 

 
Tube Assembly, Copper NKT3 8.50” 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1  EA.  

767105 

 
Street Tee, 1/8 x 1/8 x 1/8 NPT 

[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 
Models Only] 

 

1  EA.  

100154 

 

Male Connector, 1/4” F x 1/8” 
[NKT3-NS4 Radius Model Only] 1  EA.  

100155 

 

Male Connector, 1/4" C x 1/8” NPT 
[NKT3-NS4 Radius Model Only] 1  EA.  

700049 

 

Tee, Adaptor ¼” x 1/8” x 1/8” 
[NKT3-NS4 Radius Model Only] 1  EA.  

701346 

 

Tube Assembly, SS 1/4" x .028” x 2.1875” 
[NKT3-NS4 Radius Model Only] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

10

 
ITEM # IMAGE DESCRIPTION UM 

Valve Assembly NKT3 PDS - Continued 

705050 

 

PDS Valve Assembly, High Flow Fl x Fl x Stem 
[NKT3-NS4 Radius Model Only] 1  EA.  

100161 

 

Swivel Nut Assembly, 1/4" x .030” x  .88” 
[705904 Valve Assembly – NKT3-NS4] 1 EA. 

705732 

 

Solenoid Valve Assembly, ROP (Upper) 
[705904 Valve Assembly – NKT3-NS4] 1  EA.  

100177 

 

Male Elbow, 1/4" F x 1/8” NPT 
[705904 Valve Assembly (705732 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

100255 

 

Solenoid Valve, Kip 
[705904 Valve Assembly (705732 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

705739 

 

Solenoid Valve Assembly, ROP (Lower) 
[705904 Valve Assembly – NKT3-NS4] 1  EA.  

100154 

 

Male Connector, 1/4" F x 1/8” 
[705904 Valve Assembly (705739 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

100177 

 

Male Elbow, 1/4" F x 1/8” NPT 
[705904 Valve Assembly (705739 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

11

 
ITEM # IMAGE DESCRIPTION UM 

Valve Assembly NKT3 PDS - Continued 

100255 

 

Solenoid Valve, Kip 
[705904 Valve Assembly (705739 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

767105 

 

Street Tee, 1/8 x 1/8 x 1/8 NPT 
[705904 Valve Assembly (705739 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

767110 

 

Needle Valve, Right Angle 1/4" Flare 
[705904 Valve Assembly (705739 Solenoid Valve Assy.) 

– NKT3-NS4] 
1  EA.  

705906 

 

Flow Control Assembly Short, .175 GPM Fl x Fl 
[705904 Valve Assembly – NKT3-NS4] 1  EA.  

100288 

 

Flow Washer, .175 GPM White 
[705904 Valve Assembly (705906 Flow Control) – NKT3-NS4] 1  EA.  

100294 

 

Cap, Flare Flow Control 
[705904 Valve Assembly (705906 Flow Control) – NKT3-NS4] 1  EA.  

511088 

 

Body, Flow Control Short Flared 
[705904 Valve Assembly (705906 Flow Control) – NKT3-NS4] 1 EA. 

790019 

 

Nylon Gasket, Flow Control 
[705904 Valve Assembly (705906 Flow Control) – NKT3-NS4] 1  EA. 

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

12

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies 

705919 

 

Tank Assembly, NK 1750W Auto AAVB 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 Models Only] 

1  EA.  

705959 

 

Tank Assembly, NKT3-NS4 Radius 
[NKT3-NS4 Radius Model Only] 

1  EA.  

705401 

 

Tank Assembly, NK 1750W Auto 
[NKT3-NS4 Model Only] 

1  EA.  

100025 

 

Spray Head Gasket 
[All Models] 1  EA.  

100061 

 

8-32 Nut, Hex SS 
[All Models] 1  EA.  

110666 

 

Screw, 6-32 x 1/4" PPHMS SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3 Models Only] 1  EA.  

152198 

 

Lead Wire, 14GA Violet-Black 4” Teflon 1S-1S 
[All Models] 1  EA.  

201178 

 

Receptacle Adaptor, Double .250 
[All Models] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

13

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies – Continued 

700069 

 

Spray Head Tube Assembly, K 
[All Models] 1  EA.  

701446 

 

Thermostat Assembly 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, NKT3-NS3] 1  EA.  

100043 

 

Thermostat Knob 
[701446, 500502 Thermostats] 1  EA.  

101299 

 

Thermostat Only, Sunne No Wires 
[701446 Thermostat] 1  EA.  

701447 

 

Lead Wire, 14GA Violet-Black 12” Teflon 1S-3BS 
[701446 Thermostat] 1  EA.  

704119 

 

Tank Only, K 
[All Models] 1  EA.  

704221 

 

Tank Gasket, Silicone 
[All Models] 1  EA.  

705198 

 

NK Thermostat Bracket 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, NKT3-NS3, & NKT-NS4] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

14

 
ITEM # IMAGE DESCRIPTION UM 

 Tank Assemblies – Continued 

705398 

 

Lid Assembly, NK 1750W Auto 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100190 

 

1/2 –20 Jam Nut, Brass 
[All Models] 1  EA.  

100269 

 

Hi-Limit Thermostat Bracket 
[All Models] 1  EA.  

100409 

 

Gasket, Brass .520 ID 
[All Models] 1  EA.  

111592 

 

Manual Thermostat Straight Tabs, 221F 
[All Models] 1  EA.  

202025 

 

Heating Element Only, 1750W 120V 
[All Models] 1  EA.  

705214 

 

Tank Lid Only, NK Pour Over 
[All Models] 1  EA.  

781555 

 

Gasket, Silicone Delivery-Siphon 
[All Models] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

15

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assemblies – Continued 

500502 

 

Thermostat Assembly, Robert Shaw 8” Bulb 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

100261 

 

Lead Wire, 14GA Violet-Black 12” Teflon 1S-3BS 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

500935 

 

Thermostat Only, Robert Shaw 8” Bulb 
[NKT3-NS4 Radius & NKT3-NS4] 

 
1  EA.  

705400 

 

Lid Assembly, NK 1750W Auto Faucet 
[NKT3-NS4 Radius] 

 
1  EA.  

100030 

 

Brass Gasket, .566 ID 
[NKT3-NS4 Radius] 1  EA.  

100431 

 

Brass Nut, 9/16-24 x 11/16 Hex 
[NKT3-NS4 Radius] 1  EA.  

101720 

 

Female Connector, 3/8 C x 1/8 NPT 
[NKT3-NS4 Radius] 1  EA.  

705218 

 

Tank Lid Only, NK Faucet 
[NKT3-NS4 Radius] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

16

 
ITEM # IMAGE DESCRIPTION UM 

 Tank Assemblies – Continued 

767110 

 

Needle Valve, Right Angle 1/4" Flare 
[NKT3-NS4 Radius] 1  EA.  

771031 

 

Hot Water Coil Assembly 
[NKT3-NS4 Radius] 1  EA.  

705958 

 

Thermostat Bracket 
[NKT3-NS4 Radius] 1  EA.  

     

     

     

     

     

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

17

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components  

100003 

 

Bushing, Snap 3/4" Plastic 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100022 

 

Power Cord, 14/3 120 V 15 Amp 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100054 

 

#8 Lock Washer, External Tooth SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100060 

 

Screw, 8-32 x 5/8” SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

100061 

 

8-32 Nut, Hex SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

100085 

 

Switch, Lighted On – Off 120V 
[All Models] 

 
1  EA.  

100138 

 

Blank Name Plate, Narrow 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

100163 

 

Terminal Block, 120V 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

18

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

100176 

 

Male Connector, 1/4" F x 1/4" F 
[All Models] 1  EA.  

100184 

 

#6 Tinnerman Clip, Flat TY 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100191 

 

Nut, 6-32 Hex SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

100212 

 

Washer, #6 External Lock SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

100242 

 

Screw, 8-32 x 1/4" SPHMS SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100281 

 

Plug, Plastic 3/8” Hole 
[All Models] 1  EA.  

100282 

 

Plug, Plastic 1/2” Hole 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

100284 

 

Plastic Tie Wrap, 5 3/4" 
[All Models] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

19

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

100557 

 

Line Splice, .250 22 – 10 Gauge 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

101035 

 

Grommet, Strain Relief 14/3 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

102129 

 

Insulated Sleeve 1/4", Straight 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

102333 

 

Screw, Combo Head 6-32 x 3/8 SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

102355 

 

Screw, 6-32 x 5/8” PPHMS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

104002 

 

Momentary Switch, Amber 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

104015 

 

Bezel Adaptor, Black Plastic 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

105110 

 

Screw, 6-32 x 3/8” Combo Black 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

20

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

108003 

 

“O” Ring, 1/8” ID x 1/4" OD 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

110120 

 

Label, Warning “Hot Liquid” 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

110194 

 

Spacer, 5/16” OD For #8 Screw 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT-NS3] 

 
1  EA.  

110196 

 

Spacer, Upper For #8 Screw 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

111481 

 

Multi Arm Control Board, EXT V/B 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

152164 

 

Washer, .218 ID x .562 OD SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

152225 

 

4” Nylon Tie Wrap 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

201163 

 

6 Hole Spray Head 
[All Models] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

21

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

201173 

 

Spray Head Nut, 7/16-20” SS 
[All Models] 1  EA.  

201178 

 

.250 Double Receptacle – Adaptor 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

201222 

 

Switch Frame 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

202833 

 

Label, Name Plate “NEWCO” Blue 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

511005 

 

Power Cord Plate, 120 V 15 Amp 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

511023 

 

Brass Nut, 7/16-20” x 11/16” Hex 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

511046 

 

Washer, 7/16” Internal Tooth SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

511087 

 

Screw, 8-32 x 1/2" SPHMS SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

22

 
 

ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

700015 

 

Washer, 1” OD x 3/4" ID SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

700016 

 

Silicone Gasket, 1.062” OD x .672” ID 
[NKT3-NS1, NKT5-NS1, NKT-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

700056 

 

Washer, 1” OD x .390" ID SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

700060 

 

Receiving Pan, Auto 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

700434 

 

Volume Switch, I & II 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

701200 

 

Nut, Hex Slotted 3/4-16” 
[All Models] 1  EA.  

701245 

 

Switch Plate Trim, 5 Position & Faucet 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

701253 

 

Trim Cover Plate, 1 Position 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

23

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components – Continued 

500251 

 

LH Brew Rail 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

701390 

 

Label, Power-AA-Brew Control 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

701400 

 

Label, On-Off-Ready-Heating-Start 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

701405 

 

Label, Volume – 1/2-Full 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

701409 

 

Brew Basket Assembly, Tea 
[All Models] 1  EA.  

105038 

 

Label, Horizontal “Hot Liquid” Brew Basket 
[701409] 1  EA.  

701404 

 

Restrictor & Nut, Brew Basket 
[701409] 1  EA.  

701408 

 

Brew Basket Only, Clear .265” Dia. Hole 
[701409] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

24

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

701449 

 

Lamp, Rectangular Red 120 V 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

701518-B 

 

Screw, 6-32 x 1/2" PFHMS (U/C) Black 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

500250 

 

RH Brew Rail 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

702062 

 

Lamp, Rectangular Green 120 V 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

705012 

 

Tube Assembly, External Dilution SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 

 
1  EA.  

705228 

 

Bushing, Snap 1 1/8” 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

705270 

 

Switch Plate Assembly, 5/1 Brand 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

705349 

 

Tube Assembly, Discharge SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS2, & NKT3-NS3] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

25

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

705435 

 

Screw, 6-32 x 1 1/2" PPHMS SS 
[NKT3-NS1, NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

705682 

 

Tube Assembly, Internal Dilution 4 5/8” 
[NKT5-NS1, NKT3-NS4, NKT3-NS2, & NKT3-NS3] 1  EA.  

100145 

 

Faucet, Tomlinson Flared 
[NKT3-NS4 Radius] 1  EA.  

103531 

 

Screw, 6-32 x 3/16” Shoulder 
[NKT3-NS4 Radius] 1  EA.  

105038 

 

Label, Horizontal “Hot Liquid” Brew Basket 
[For 701714-BLK Basket] 1  EA.  

110299 

 

Male Connector, 1/4" F x 1/8” NPT 
[NKT3-NS4 Radius] 1  EA.  

110626 

 

Switch, Rocker Rectangular DP/ST 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

110908 

 

Relay, 120 V 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

26

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

201985 

 

Start Switch, Black 
[NKT3-NS4 Radius & NKT3-NS4] 

 
1  EA.  

511013 

 

Flow Control Assembly, Short .190 GPM 
[NKT3-NS4 Radius] 

 
1  EA.  

100289 

 

Flow Washer, .190 GPM Dark blue 
[511013 Flow Control] 

 
1  EA.  

100294 

 

Cap, Flare Flow Control 
[511013 Flow Control] 

 
1  EA.  

511088 

 

Body, Flow Control Short Flared 
[511013 Flow Control] 1  EA.  

790019 

 

Nylon Gasket, Flow Control 
[511013 Flow Control] 1  EA.  

511053 

 

Terminal Block, 240 V 
[NKT3-NS4 Radius] 1  EA.  

701147 

 

Receiving Pan Gasket, 36” 
[NKT3-NS4 Radius] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

27

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

701456 

 

Swivel Nut Assembly, Copper 1/4" x .030” x 2.156” x 15” 
[NKT3-NS4 Radius] 1  EA.  

701714-BLK 

 

Brew Basket, GX Trimmed Black 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

705013 

 

Tube Assembly, Internal Dilution SS GXTVT 
[NKT3-NS4 Radius] 1  EA.  

705016 

 

Tube Assembly, PDS-Coil GXTVT 
[NKT3-NS4 Radius] 1  EA.  

705017 

 

Tube Assembly, Faucet-Coil GXTVT 
[NKT3-NS4 Radius] 1  EA.  

705383 

 

Ready Lamp Assembly, Green 
[NKT3-NS4 Radius] 1  EA.  

705916 

 

Clip, Shelf 
[NKT3-NS4 Radius] 1  EA.  

705918 

 

Label, NKT3-NS1 Radius 
[NKT3-NS4 Radius] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

28

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

705922 

 

SS Tubing Assembly, 1/4" x .028” x 1.00” [100942] 
[NKT3-NS4 Radius] 1  EA.  

705923 

 

SS Tubing Assembly, 1/4" x .028” x 14.625” [100942] 
[NKT3-NS4 Radius] 1  EA.  

705924 

 

Label, Shelf 
[NKT3-NS4 Radius] 1  EA.  

705957 

 

Shelf Only 
[NKT3-NS4 Radius] 1  EA.  

790083 

 

Dual 4 Minute Timer 
[NKT3-NS4 Radius & NKT3-NS4] 1  EA.  

800158 

 

Mini Arrestor With Elbow 
[NKT3-NS4 Radius] 1  EA.  

701482 

 

Male Elbow, 1/8” x 1/8” NPT 
[800158 Mini Arrestor] 1  EA.  

04-0367 

 

Screw, 8-32 x .50” PPHMS Black 
[NKT3-NS4] 1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

29

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

104006 

 

Switch Plate Trim, 3 Station Pour Over 
[NKT3-NS4] 1  EA.  

110988 

 

Label, Ice Tea – Coffee 
[NKT3-NS4] 

 
1  EA.  

110989 

 

Label, Vac-Bev-Sel-R/B-O/O 
[NKT3-NS4] 

 
1  EA.  

203042 

 

Label, Vac Face Plate – NEWCO 4 3/4" x 1” 
[NKT3-NS4] 1  EA.  

700905 

 

Swivel Nut Assembly Copper, 1/4" x .030” x 1.25” x 1.25” 
[NKT3-NS4] 1  EA.  

705379 

 

Tube Assembly, Discharge SS 
[NKT3-NS4] 1  EA.  

101134 

 

Silicone Tubing, 1/4" x 3/8” x 1.00” 
[Added to 705379 Tube Assembly] [152218] 1  EA.  

705686 

 

Switch Plate, Vac NK SS 
[NKT3-NS4] 

 
1  EA.  

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

30

 
ITEM # IMAGE DESCRIPTION UM 

 Miscellaneous Components - Continued 

705726 

 

 
Tube Assembly, Copper 7 11/16” PDS 

[NKT3-NS4] 
1  EA.  

705737 

 

Tube Assembly, Copper 1/4" x .030” x 8.0625” x 45 
[NKT3-NS4] 1  EA.  

705886 

 

Tube Assembly, Copper 1/4" x 3.75” NKT 
[NKT3-NS4] 1  EA.  

100164 

 

1/4" Sleeve, Compression 
[Used On 705923 Tube Assembly] 1  EA.  

100165 

 

1/4" Nut, Compression 
[Used On 705923 Tube Assembly] 1  EA.  

100430 

 

Nut, 1/4" Flared Short Forged 
[Used On 705922 Tube Assembly] 1  EA.  

     

     

 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

31

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



NKT3 SERIES 
 Fresh Brewed Tea Systems 

18-Sep-13                                           NEWCO ENTERPRISES 1.800.325.7867 
   www.newcocoffee.com 

32

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


